BRREAERER
HE-ZEMFAAZ+ALAMEA

“EENE “ET=f
~NA=1H A~NA=1H
~EA ~EA
BETFTT BEFT
(RE®) (RER)
CEEH s REERFE (31,082) (37,536)
BREEH AR WA (FER)FE 155 (20)
BRESH RS WA (FR)FE 24,820 (14,561)
ReRBeEEIRDFE (6,107) (52,117)
BNRReREeE 207,012 186,168
ExEHTE 35 (20)
BREReLESEE 200,940 134,031

ReRBSESELEHB 2N
BITRAER 132,130 87,244
BIEBRE S 68,810 46,787
200,940 134,031

R ERRME

HE_ZTMERA=THIEAEA

- HBEZEA
RERRBRRDEREBHARSAESF LTHRI (LRI MET A2 AR RBERERREEGHAAGRY L FE
S ERAE-TRGEITHYBREINER -

- ZEEHEE
RERRBREDREBERAE]  TESEENNEREFREMGH -

ERRTEVERERRAZGHER  BEASEBE_TE=F+ A=+ -ALFEZ2FUBRRARMNERE
—H.




TEE(FEH)EFERAHA

PEEHR
HE_ZZMNFAAZTHLABACEBEXEREERMN AR  BREBLRAIMT

BEZZENEAA=THLAEA

BT
REBRRB MERE EERE Hh i S REBE
BETT BETFT BETFT BEFT BEFT BEFT
EEE
HINEE 860,527 7,030 2,175 588 - 870,320
SBEREE = 897 = 4,007 (4,904) -
“E 860,527 7,927 2,175 4,595 (4,904) 870,320
DEEE 24,136 4,192 (980) 48 - 27,396
RTFBKA 1,155
REED B 2 H bt ax 2,319
AESEZAFER (4,852)
mERF 26,018

"ELT
ke BRE MERE EHRE Hi %% il B REBE
EEFrT  EEFrT  E¥Tm BT E¥Fr BETrn
¥R
HNEE 528,153 6,775 1,944 1,775 - 538,647
AEMEHE - 756 - 3,917 (4,673) -
BE 528,153 7,531 1,944 5,692 (4,673) 538,647
DEELE 16,861 3,868 2,806 61 - 23,596
RITFBKA 1,064
R DE 2 Ethlm 168
REDEzZLAER (4,644)
ES- Pl 20,184

DEMHERTHERTE -




M. HitgA
e ONCE

RITERFEMA
HENE  BERRBRA
LS ON

i BHERA
HHRARRFRIBEERTERZNEX -

R FBBXHE

REXHELRE
RERE

BENEH
BAFEH

EEHRE
AREEM (W +7)

BiEmERARE

BENGREAREAMGFEZI75% BE-_SE=F A=1tAREA

NERBERAZMRITHEAE -

£t KRE

REBE-FF=£+-A=+-AL
ZREREFR2.5 1L
(ZZE-F+-AZ+—A1t 151

RZZENEAA+EA  AREEEQEREPHREER0.01

I - I

= Lk S2E=%
AA=tH ~NA=+H
~MEA ~EA
BETT EETFTT
1,155 1,064
392 -
1,927 168
3,474 1,232

o Lk =t L
~A=tA ~NA=tH
~MEAR ~EA
BETT BETFTT
8817 1,965
1,393 306
4,610 2,271
- 113
33 34
4,643 2,418

$17.5%) 5t E e

o Lk —2E=§
AB=t+H ~NA=ZtH
~MEA ~EA
BEFT BB
11,138 6,683

75 44,550,0007T




TEE(FEH)EFERAHA

N ﬁﬁmﬂ
GG HRABARF17,275,0008 5 (BE-TZ=FA=THIEAEA : 8960,000% ) R AHANEETRH
445 ,500,000% (BHE=Z F=FAA=THILABA © 445,500,0000%) 5t & ©

e BREWE
BE2QRA8 SENRENZE_TTNEAAZTAMEE B-_TT=F+ A=+ -ANEEMEE TEERE
B AR RERETRE - ﬁ%ﬁ)\&ﬁifﬁﬁ%%@ﬂ%"

T BEARES

—BEIMF “TT=fF
ABEtE  +ZA=+-H
BEFT BETFT
BIEEERE 27,227 29,207
WEREL2HE - F 20,504 20,504
W%*E#%“Th?éiﬁ%ﬁﬁ%? (20,504) (20,504)
27,227 29,207
+-— B5RE
REERS Hit & X
—EEME -—TT-F CZEEME -TT-F ZFEMF -—TIT=F
~A +:ﬁ ~A ‘\“_ﬁ ~A ‘\“:ﬁ
=RE == =+A =1+-~H =+A =1+-~H
BETFT EEFT  BETT  BETI BEFT  EETRT
R
Em-F& = - 35,603 39,330 35,603 39,330
Em =g 3,132 3,132 15,181 12,410 18,313 15,542
FEMm = - 2,601 3,701 2,601 3,701
3,132 3,132 53,385 55,441 56,517 58,573
ARES
HE - - 9,002 - 9,002 -
FEm 18,574 10,628 23,423 20,161 41,997 30,789
18,574 10,628 32,425 20,161 50,999 30,789
Ex:
- - - 16,070 12,634 16,070 12,634
LW 8,343 8,343 22,537 31,449 30,880 39,792
8,343 8,343 38,607 44,083 46,950 52,426
EHRELRE:
tm 3,132 3,132 66,854 64,374 69,986 67,506
LW 26,917 18,971 57,563 55,311 84,480 74,282
30,049 22,103 124,417 119,685 154,466 141,788
tWESTE 3,513 4,019 66,854 64,374 70,367 68,393
HES
3FNm§ﬁ 30,049 22,103 2,601 3,701 32,650 25,804
k) - - 121,816 115,984 121,816 115,984
30,049 22,103 124,417 119,685 154,466 141,788

— I -




= FK
#{E2,613,0008 L (ZEE=F+=ZA=+—H : 1,500,000%70) Z M mig ] EHRFEAR
T EWER  REREMRE
EEUEFZ ITHUREHARIMFE120K - EHEKER118,272,00087L (ZET=F+-A=1—H : 112,143,000
BT BREEERKER  ReREMFES  ERERAIINT :
“BINF “TT=fF
AA=+H i A=+~=H
BETFT BEFT
0-30 & 62,638 73,254
31-60 & 32,742 25,325
61-90 X 14,401 8,858
91-120 X 4,778 2,854
121-365 X 3,713 1,852
118,272 112,143
1o B
RGEE AfE
EEFT
LA IR S IR EE 5
“F+ZA=+-8R
ZTEMERA=TAE 700,000,000 35,000
BRETRBRRA
RZZET=F+-A=+-BK
ZTEMERA=TAE 445,500,000 22,275
t+E BEEHEEE
EAEES ESi R
EFRENE THRETF nE e
B TFoT BB FoT B For BB T
R-_TT=F—F—H 1,704 2,218 1,200 5,122
BEygye:
—BABRK@ERT (HFN) - - 113 113
—BAMEEGEE - 208 = 208
RZET=F A=1H 1,704 2,426 1,313 5,443
— BN (B ) B & 822 - (163) 659
RZZET=F+=ZA=+—H
E-—ZTWESA=ZTH 2,526 2,426 1,150 6,102
TR ERERREFER

LS EMNER12,762,0008 T (ZET=F+_-A=1—H0 :25071,00087) B R EAEEENEZREFERT B

BERAFMT :

0-30 X

31-60 X
61-90 X
91-120 X

I - I

—ZEZME —ZZ=F
XA=tR  t-A={-F
BEFT BT
9,543 23,944
1,934 934
1,277 131

8 62

12,762 25,071




TEE(FEH)EFERAHA

tt BTEE
—ZEZME —ZZT=F
~B=tH +Zf=+-8
BETT EETT
2URTEEAREREE TR
—EREE - BE
RITEX - 113
RITER 10,780 10,816
ERBEER 266,960 229,043
277,740 239,972
TN BREE
N Lk —g2=%
~B=tH +Zf=+-8H
BETT EETT
EENBROREENBREANBANE -
BEREBERENERNAE 151 151

5

BEER
RZZEMEAAZTH  £EEE7,474,0008 T2 EROEHNE (CET=F+-A=1+—H
BERTIEACERR -

17,498,000 1) B&




